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Which of the following has pH value 7?
(a) Pure water (b) Neutral solution
(c) Basic solution (d) Acidic solution
(e) None of the above/More than one of the above

Which of the following elements does not contain
neutrons?
(a) Oxygen (b) Nitrogen
(c) Hydrogen (d) Copper
(e) None of the above/More than one of the above

Angstrom is a unit of:
(a) wavelength (b) energy
(c) frequency (d) velocity
(e) None of the above/More than one of the above

Frequency is measured in:
(a) hertz (b) meter/second
(c) radian (d) watt
(e) None of the above/More than one of the above

Who discovered DNA?
(a) James Watson and Francis Crick
(b) Gregor Mendel
(c) Johannsen
(d) Hargobind Khorana
(e) None of the above/More than one of the above

What is triglyceride?
(a) Protein (b) Carbohydrate
(c) Fat (d) Mineral
(e) None of the above/More than one of the above

Electroencephalogram [EEG] is used in monitoring:
(a) heart (b) liver
(c) pancreas (d) brain
(e) None of the above/More than one of the above

Body temperature is regulated by:
(a) thalamus (b) hypothalamus
(c) cerebellum (d) medulla
(b) None of the above/More than one of the above

Choose the correct statement.
(a) Wavelength of red light is less than violet light.
(b) Wavelength of red light is more than violet light.
(c) Wavelength of violet light is more than green light.
(d) Wavelength of violet light is more than yellow light.
(e) None of the above/More than one of the above

The value of 40 degrees Celsius in Fahrenheit scale is:
(@) 104°F  (b) 100°F (c) 102°F  (d) 75 °F
(e) None of the above/More than one of the above
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The unit of electric power is:
(a) ampere (b) volt
(c) coulomb (d) watt
(e) None of the above/More than one of the above

In electrical motor:
(a) heat is converted into electrical energy
(b) electrical energy is converted into heat
(c) electrical energy is converted into mechanical energy
(d) mechanical energy is converted into electrical
energy
(e) None of the above/More than one of the above

Human body contains:
(a) about 70% water (b) 20%-30% water
(c) 10%-20% water (d) 30%-40% water
(e) None of the above/More than one of the above
The device to measure electric current is:
(a) voltmeter (b) ammeter
(c) voltameter (d) potentiometer
(e) None of the above/More than one of the above

The main component of greenhouse gases is:
(a) carbon dioxide (b) methane
(c) nitrous oxide (d) ozone
(e) None of the above/More than one of the above

Einstein got the Nobel Prize for:

(a) relativity

(b) Bose-Einstein condensation

(c) mass-energy equivalence

(d) photoelectric effect

(e) None of the above/More than one of the above
The powerhouse of cell is:

(a) cell wall (b) mitochondria

(c) ribosome (d) nucleus

(e) None of the above/ More than one of the above
AIDS is caused by:

(a) water (b) bacteria

(c) virus (d) fungus

(e) None of the above/More than one of the above
Which instrument is used to measure humidity?

(a) Hydrometer (b) Hygrometer

(c) Pyrometer (d) Lactometer

(e) None of the above/More than one of the above

What is the unit of pressure?
(a) Newton/sq. meter (b) Newton-meter
(c) Newton (d) Newton/meter
(e) None of the above/More than one of the above
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Defence Minister of India Smt. Nirmala Sitharaman
made a three-day visit to which nation in the first week
of October 2018?

(a) Russia (b) Kazakhstan
(c) Ukraine (d) China
(e) None of the above/More than one of the above

The Parliament of which of the following nations
dismissed the honorary citizenship of Aung San Suu
Kyi in October 2018?

(a) USA (b) United Kingdom
(c) Norway (d) Canada
(e) None of the above/More than one of the above

Which of the following is not associated with NAFTA?
(a) Great Britain (b) Canada
(c) Mexico (d) USA
(e) None of the above/More than one of the above

With which nation, India has signed an agreement
‘Mobilize Your City” in September 2018?
(a) Sweden (b) Germany
(c) Japan (d) France
(e) None of the above/ More than one of the above

Where did Foreign Minister Smt. Sushma Swaraj
inaugurate ‘Panini Language Laboratory” in August 2018?
(a) Sri Lanka (b) South Africa
(c) Mauritius (d) Indonesia
(e) None of the above/More than one of the above

Which nation enacted "Human Organ Transplantation
Law’ for migrants from Indian origin in August 2018?
(a) United Kingdom (b) Canada
(c) USA (d) Singapore
(e) None of the above/More than one of the above

Emmerson Mnangagwa was elected as the President
of which country in presidential election held in
November 2017?

(a) Uganda (b) Kenya (c) Zimbabwe (d) Ghana
(e) None of the above/ More than one of the above

On 20th July, 2018, which nation ended emergency
after two years?
(a) Iraq (b) Syria (c) Turkey (d) Yemen
(e) None of the above/More than one of the above

Which of the following nations declared emergency
due to polio outbreak in June 2018?
(a) Papua New Guinea (b) Fiji
(c) Philippines (d) Mali
(e) None of the above/More than one of the above
For how many times has India won the Cricket Asia
Cup on 29 September, 2018 defeating Bangladesh?
(a) Six times (b) Seven times
(c) Eight times (d) Nine times
(e) None of the above/More than one of the above

Which of the following is the correct order of medals
won by India in the 18 Asian Games, 2018 (Jakarta)?

Gold Silver Bronze Total
(a 15 21 33 69
(b) 15 32 22 69
(c) 15 30 24 69
(d) 15 24 30 69

(e) None of the above/More than one of the above
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Which is the first Indian airline company that used
biofuel as ATF in August 2018?
(a) Jet Airways (b) Vistara
(c) Air India (d) SpiceJet
(e) None of the above/More than one of the above
In June 2018, how much amount the World Bank has
approved for ‘Atal Bhujal Yojana’, an ambitious scheme
of India?
(a) ¥ 5,000 crore (b) % 6,000 crore
(c) ¥ 7,000 crore (d) ¥ 8,000 crore
(e) None of the above/More than one of the above
According to the report of IIT Kharagpur study group,
continuous low rainfall for how many years was the
cause of fall of the Indus Valley Civilization?
(a) 600 years (b) 700 years
(c) 800 years (d) 900 years
(e) None of the above/More than one of the above
According to Indian Forest Status Report released in
February 2018, how much area of India is covered by
forests?
(a) 23.00% (b) 23.40%
(c) 24.00% (d) 24.40%
(e) None of the above/More than one of the above
In January 2018, which Indian State allowed people
to establish a humanitarian relationship with trees, i.e.,
brother-sister?
(a) Assam (b) Sikkim
(c) Nagaland (d) Manipur
(e) None of the above/More than one of the above
Which district achieved the first position as per
‘Swachh Survekshan Grameen, 2018'?
(a) Gaya—Bihar (b) Tuticorin—Tamil Nadu
(c) Satara—Maharashtra  (d) Meerut—UP
(e) None of the above/More than one of the above
Which scheme was recognized as world’s largest
insurance scheme launched in India in September 2018?
(a) Pradhan Mantri Jan Aarogya Yojana
(b) Pradhan Mantri Jan Swasthya Yojana
(c) Pradhan Mantri Fasal Bima Yojana
(d) Pradhan Mantri Jan Dhan Yojana
(e) None of the above/More than one of the above

In which of the following institutes was the first
Indian Railway University established in September
2018?

(a) Indian National Rail Academy—Vadodara

(b) Indian Railway School — Pune

(c) Indian National Rail Research Institute—Mysore
(d) Indian Rail Coach Institute—Kapurthala

(e) None of the above/More than one of the above

JIMEX 2018 relates to:
(a) Japan-India Joint Military Exhibition
(b) Japan-India Maritime Exercise
(c) Japan-India Joint Motorvehicle Exhibition
(d) Japan-India Joint Missile Programme
(e) None of the above/More than one of the above
In which city/state was air pollution control system
‘VAYU' installed in September 2018?

(a) Chennai (b) Amritsar (c¢) Delhi (d) Varanasi
(e) None of the above/More than one of the above
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Under which of the following, Chief Minister Shri
Nitish Kumar launched more than 750 development
schemes at Begusarai and Khagaria districts on 6
January, 2018?

(a) Vikas Yatra (b) Vakas Survekshan Yatra
(c) Nav-Srijan Yojana, 2018 (d) Vikas Samiksha Yatra
(e) None of the above/More than one of the above

In which city, Deputy Chief Minister Shri Sushil
Modi inaugurated Bihar’s first ‘Start-up Hub’ on 16"
March, 2018?

(a) Motihari (b) Munger (c) Patna  (d) Arrah
(e) None of the above/More than one of the above

On 22" March, 2018 who unveiled the book, Neel Ke
Dhabbe on the occasion of 106" Bihar Day in Patna?

(a) Vice President Shri Venkaiah Naidu
(b) Prime Mindster Shri Narendra Modi
(c) Home Minister Shri Rajnath Singh
(d) Speaker Smt. Sumitra Mahajan
(e) None of the above/More than one of the above

The capacity of India’s most powerful electric locomotive
engine made in Madhepura Locomotive Factory is:
(a) 9000 HP (b) 10000 HP
(c) 11000 HP (d) 12000 HP
(e) None of the above/More than one of the above

On 10t April, 2018, Prime Minister Shri Narendra Modi
addressed “Swachhagrahis National Convention’ in:
(a) Motihari (b) Patna
(c) Kishanganj (d) Katihar
(e) None of the above/More than one of the above

In which airport, NDMA conducted a mock drill
based on CBRN emergency in April 2018?
(a) IGI—New Delhi (b) LNJP—Patna
(c) CSI—Mumbeai (d) DABH—Indore
(e) None of the above/More than one of the above

According to a report, what is the rank of Patna city
among 20 cities as per availability of 4G signals between
December 2017 to February 2018?

(a) First (b) Second
(c) Nineteenth (d) Twentieth
(e) None of the above/More than one of the above

In which city of Bihar, Sulabh International launched
cheapest drinking water project ‘Sulabh Jal'?
(a) Patna (b) Bhagalpur
(c) Darbhanga (d) Purnea
(e) None of the above/More than one of the above

Which of the following is not true about Bihar’s
Mukhyamentri Kanya Utthan Yojana?
(a) Proposed annual expenditure for the scheme is
% 7,221 crore
(b) Education, Health and Social Welfare trio departments
ran the scheme
(c) Every girl child will receive total ¥ 60,000 from her
birth to graduation level education
(d) At the time of a girl child’s birth, her family receives
< 2,000
(e) None of the above/More than one of the above
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The earliest evidence of animal domestication and
agriculture in India has come from:
(a) Anjira (b) Damb Sadat
(c) Kili Gul Muhammad  (d) Mehrgarh
(e) None of the above/More than one of the above

After the Mahaparinirvana of Lord Buddha, the first
Buddhist council was held at:
(a) Rajgriha (Rajgir) (b) Gaya
(c) Pataliputra (d) Vaishali
(e) None of the above/More than one of the above

Who among the following first issued gold coins on a
large scale?
(a) Pushyamitra Shunga  (b) Menander
(c) Vima Kadphises (d) Gautamiputra Satakarni
(e) None of the above/More than one of the above

Who among the following was the first to explain that
the rotation of the earth on its own axis accounts for the
daily rising and setting of the sun?

(a) Aryabhata (b) Bhaskara
(c) Brahmagupta (d) Varahamihira
(e) None of the above/More than one of the above

The ruler of Suvarnabhumi, who founded a Buddhist
monastery at Nalanda and requested Devapala through
his ambassador to grant five villages for its maintenance,
was:

(a) Dharanindra (b) Sangramadhananjaya
(c) Balaputradeva (d) Chudamanivarmana
(e) None of the above/More than one of the above

Who wrote Periplus of the Erythrean Sea?
(a) Ctesias (b) Pliny  (c) Ptolemy (d) Strabo
(d) None of the above/More than one of the above

The earliest description of Bakhtiyar Khilji’s invasion
of Bihar is in:
(a) Tarikh-i Hind (b) Tabaqat-i Nasiri
(c) Taj-ul Maasir (d) Tarikh-i Mubarak Shahi
(e) None of the above/More than one of the above

Which Sultan demanded half the crops on land after
measurement as revenue?
(a) Htutmish (b) Balban
(c) Ala-ud-din Khilji (d) Muhammad bin Tughluq
(e) None of the above/More than one of the above
Shaikh Bahauddin Zakaria belonged to which sect?
(a) Suhrawardi Silsilah (b) Rishi Silsilah
(c) Chisti Silsilah (d) Firdausi Silsilah
(e) None of the above/More than one of the above

Who among the following rulers divided his troops
into units of two hundred, two hundred fifty and five
hundred?

(a) Bahlul Lodi (b) Sikandar Shah
(c) Sher Shah (d) Islam Shah
(e) None of the above/More than one of the above

Who stated that five thousand to twenty thousand
men worked for forty years to build the palace of forty
pillars at Allahabad in Akbar’s time?

(a) Manucci (b) Tavernier
(c) William Finch (d) Abdul Hamid Lahori
(e) None of the above/More than one of the above
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Which Sultan was reputed to be ‘Akbar of Kashmir’'?
(a) Sultan Shamsuddin Shah
(b) Sultan Qutbuddin
(c) Sultan Sikandar
(d) Sultan Zainul Abidin
(e) None of the above/More than one of the above

Who began the Faraizi Movement?
(a) Haji Shariatullah (b) Syed Ahmed
(c) Salimullah (d) M. A. Jinnah
(e) None of the above/More than one of the above

Who wrote the book, Poverty and un-British Rule in
India?
(@) R. C. Dutt (b) Dadabhai Naoroji
(c) Bipin Chandra Pal (d) Lajpat Rai
(e) None of the above/More than one of the above

When were the rights of the tenants on land in Bengal
and Bihar recognized by the Bengal Tenancy Act?
(a) 1868 (b) 1881 (c) 1885 (d) 1893
(e) None of the above/More than one of the above

When did Bihar become a separate province in India?
(a) 1897 (b) 1905 (c) 1907 (d) 1912
(e) None of the above/More than one of the above

Who invited Gandhiji to Champaran?
(a) Rajendra Prasad (b) Raj Kumar Shukla
(c) Mazharul Huq (d) Krishna Sahay
(e) None of the above/More than one of the above

Who raised the Flag of Independence at the Congress
Session of 1929?
(a) Maulana Muhammad Ali (b) Pandit Jawaharlal Nehru
(c) Vallabhbhai Patel (d) Subhas Chandra Bose
(e) None of the above/More than one of the above

When was the Bihar Socialist Party formed?
(a) 1921 (b) 1927 (c) 1931 (d) 1934
(e) None of the above/More than one of the above
Who among the following was the leader of the first
Congress Ministry in Bihar?
(a) Anugrah Narayan Sinha (b) Abdul Bari
(c) Jayaprakash Narayan (d) Shri Krishna Sinha
(e) None of the above/More than one of the above
Which one of the following is a landlocked country?
(a) Belgium (b) Hungary
(c) Romania (d) Ukraine
(e) None of the above/More than one of the above
Which one among the following is the largest island
in terms of area?
(a) Borneo (b) Great Britain
(d) Sumatra

(e) None of the above/More than one of the above

(c) Madagascar

In which of the following areas, Mediterranean
climate does not prevail?
(a) Central Chile (b) Cape Town
(c) Adelaide (d) Pampas
(e) None of the above/More than one of the above
The country, which is the largest silk producer in the
world, is:
(a) India  (b) China (c) Brazil (d) Japan
(e) None of the above/More than one of the above
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Which one among the following countries of the
world, except United States of America, is the largest
crude oil producer?

(a) Russia (b) China

(c) Saudi Arabia (d) Canada

(e) None of the above/More than one of the above
Which one of the following is not a part of the

Meghalaya Plateau?

(a) Bhuban Hills (b) Garo Hills

(c) Khasi Hills (d) Jaintia Hills

(e) None of the above/More than one of the above
The Pass, which is situated at the highest elevation, is:

(a) Zoji La (b) Rohtang

(c) Nathu La (d) Khyber

(e) None of the above/More than one of the above
Karewas soils, which are useful for cultivation of

Zafran (a local variety of saffron), are found in:

(b) Garhwal Himalaya

(d) Eastern Himalaya

(a) Kashmir Himalaya
(c) Nepal Himalaya
(e) None of the above/More than one of the above

As per 2011 Census, the urban population percentage
to total population of India was about:
(a) 21 (b) 31 (c) 36 (d) 40
(e) None of the above/More than one of the above

In Government of India’s NITI Aayog, which is an
economic policy-making think tank, what is the full
form of NITI?

(a) National Internal Trade Information

(b) National Institution for Transforming India

(c) National Integrated Treaty Institute

(d) National Intellectual Training Institute

(e) None of the above/More than one of the above

After Independence, in which year were the Indian
States reorganized on the linguistic basis?
(a) 1947 (b) 1951 (c) 1956 (d) 2000
(e) None of the above/More than one of the above
Which one among the following States of India is
called ‘Sugar Bowl'?
(a) Uttar Pradesh (b) Maharashtra
(c) Bihar (d) Haryana
(e) None of the above/More than one of the above

In which one of the following minerals, India leads in
production in the world?
(a) Sheet mica (b) Copper
(c) Gypsum (d) Iron ore
(e) None of the above/More than one of the above

Bihar as an Indian State was formed in:

(a) 1911 (b) 1912 (c) 1936 (d) 2000

(e) None of the above/More than one of the above
Which one of the following parts of Bihar is

geologically older in age relatively?

(a) Rohtas Plateau (b) North-Western Hills

(c) Kharagpur Hills (d) North Ganga Plains

(e) None of the above/More than one of the above



\86 By how many districts of Bihar was Patna district
bounded till July 2018?
@) 7 (b) 8 (© 9 (d) 10
(e) None of the above/More than one of the above

\87 Most of the area in Bihar is covered by:
(a) mountainous soil (b) alluvial soil
(c) regur soil (d) terai soil
(e) None of the above/More than one of the above

\88 Among the States of India, Bihar’s rank in terms of
lowest literacy rate (2011 Census) is:
(a) first (b) second (c) third (d) fourth
(e) None of the above/More than one of the above

\89 What is the rank of Bihar in terms of production of
jute among the States of India?
(a) First (b) Second (c) Third (d) Fourth
(e) None of the above/More than one of the above

\90 Which type of industries has potential and prospects
in Bihar?
(a) Oil refinery (b) Forest-based industry
(c) Sand-mining industry  (d) Agro-based industry
(e) None of the above/More than one of the above
\91 A Judge of the Supreme Court may resign his office
by writing to:
(a) the President
(b) the Prime Minister
(c) the Law Minister
(d) the Attorney General of India
(e) None of the above/More than one of the above

\92 Who was the first Chairman of the Backward Classes
Commission?
(a) Jagjivan Ram (b) Kaka Saheb Kalelkar
(c) B. D. Sharma (d) B. R. Ambedkar
(e) None of the above/More than one of the above

\93 The Chairman of the State Public Service Commission
is appointed by:
(a) the Chairman of the Union Public Service Commission
(b) the President of India
(c) the Governor of the State
(d) the Chief Minister
(e) None of the above/More than one of the above

In order to be chosen a member of the Lok Sabha, a
person must not be less than the age of:
(a) 18 years (b) 21 years
(c) 25 years (d) 30 years
(e) None of the above/More than one of the above

\94

\95 The Governor of a State is appointed by:
(a) the Prime Minister
(b) the Chief Justice of India
(c) the President
(d) the Chief Justice of the High Court
(e) None of the above/More than one of the above

\95 In which Article of the Constitution of India was the
provision for reservation of scheduled castes in the Lok
Sabha made?

(a) Article 330 (b) Article 331
(c) Article 332 (d) Article 333
(e) None of the above/More than one of the above
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\97 The President:
(a) is not a part of the Parliament
(b) is a part of the Parliament
(c) is a part of the Parliament and sits in the Parliament
(d) can vote in the Parliament
(e) None of the above/More than one of the above

\98 Which one of the following Articles directs the State
Governments to organize the Panchayats?
(a) Article 33 (b) Article 40
(c) Article 48 (d) Article 50
(e) None of the above/More than one of the above

\99 In which year did the State Jharkhand come into
existence?
(a) 1998 (b) 1999 (c) 2000 (d) 2001
(e) None of the above/More than one of the above

\100 In which one of the following years was Sarkaria
Commission, which was empowered to recommend
changes in Centre-State relations, submitted its report?
(a) 1983 (b) 1984 (c) 1985 (d) 1987
(e) None of the above/More than one of the above

\101 Under which one of the following Articles is the
formation of Finance Commission laid down?

(a) Article 280 (b) Article 269
(c) Article 268 (d) Article 265
(e) None of the above/More than one of the above

\102 The Attorney General of India is appointed by:
(a) the Law Minister
(b) the President of India
(c) the Speaker of the Lok Sabha
(d) the Prime Minister
(e) None of the above/More than one of the above

\103 During Twelfth Five-Year Plan, which one of the follow-
ing average annual growth rate targets was envisaged for
agriculture and allied sector?

(a) 3.0 percent (b) 3.5 percent
(c) 4.0 percent (d) 4.5 percent
(e) None of the above/More than one of the above

\104 The Government policy ‘Make in India” aims at:
(a) removal of bureaucratic sloth
(b) elimination of red tapism
(c) reduction in cost of manufacturing
(d) making the product competitive
(e) None of the above/More than one of the above

\105 Which one of the following is not an initiative for
industrial development?

(a) Make in India (b) Ease of Doing Business
(c) Start-up India (d) Digital India
(e) None of the above/More than one of the above

\106 PURA (Providing Amenities to Rural Areas) model
was advocated by:

(a) AP J. Abdul Kalam (b) Manmohan Singh
(c) Lal Krishna Advani (d) Rajiv Gandhi
(e) None of the above/More than one of the above

\107 As per Census 2011, the female literacy rate in India

was:

(a) 60.0 percent (b) 63.0 percent

(c) 65.5 percent (d) 68.5 percent

(e) None of the above/More than one of the above
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\108 Who among the following has given the idea of Self-
Help Groups as an effective tool for poverty alleviation?
(a) Amartya Sen (b) Md. Yunus
(c) S. Chakravarti (d) Venkaiah Naidu
(e) None of the above/More than one of the above
\109 At present, who is the Governor of the Reserve Bank
of India?
(a) Urjit Patel (b) Raghuram Rajan
(c) Shanta Kumar (d) Lalita D. Gupte
(e) None of the above/More than one of the above
\IIO Which one of the following is the pathway to increase
productivity in agriculture?
(a) Efficient irrigation (b) Quality seeds
(c) Use of pesticides (d) Use of fertilizers
(e) None of the above/More than one of the above
\TI'I Which one of the following is the objective of
MGNREGA?
(a) To build assets
(b) To encourage micro-irrigation
(c) Water management
(d) To enhance rural income
(e) None of the above/More than one of the above
Which one of the following was not included in the
intended objectives of the Union Budget, 2017-18?
(a) Transform India (b) Clean India
(c) Educate India (d) Energize India
(e) None of the above/More than one of the above
Which one of the following most appropriately de-
scribes the nature of Green Revolution of late sixties of
20t century?
(a) Intensive cultivation of green vegetable
(b) Intensive agriculture district programme
(c) High-yielding varieties programme
(d) Seed-Fertilizer-Water technology
(e) None of the above/More than one of the above
\"4 Who among the following is the CEO of the NITI Aayog?
(a) Amitabh Kant (b) S. S. Mundra
(c) Cyrus Mistry (d) Soumya Kanti Ghosh
(e) None of the above/More than one of the above
\“5 Which one of the following States has the highest
density of population according to the Census of India,
2011?
(a) Kerala (b) Haryana
(c) Bihar (d) Uttar Pradesh
(e) None of the above/More than one of the above
\116 What is the sex ratio in Bihar State as per the Census
of India, 20117
(a) 893 (b) 916
(c) 918 (d) 925
(e) None of the above/More than one of the above
\117 ‘Bihar Economic Survey’, for the first time, was pub-
lished for the Financial Year:
(a) 2004-05 (b) 2006-07
(c) 2008-09 (d) 2009-10
(e) None of the above/More than one of the above
\18)) In Bihar, during April-June 2018, which sector has
attracted the highest FDI equity inflow?
(a) Service sector (b) Steel industry
(c) Processing industry in agriculture
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(d) Cement industry
(e) None of the above/More than one of the above
\119 What is the percentage of population in Bihar State
employed in agriculture sector in 2017-18?
(a) 65 (b) 67 (c) 68 (d) 70
(e) None of the above/More than one of the above
\120 What was the economic growth rate of the State of
Bihar during the year 2016-17?
(a) 6.3 percent (b) 7.3 percent
(c) 8.3 percent (d) 9.3 percent
(e) None of the above/More than one of the above

\121 Which of the following was not a reason for making
the sepoys of the East India Company rebellious?
(a) The efforts of the officers of the Company to spread
Christianity
(b) The order to the sepoys to travel on ships
(c) The stoppage of Bhatta
(d) The inefficiency of the officers
(e) None of the above/More than one of the above

\122 About Mughal Emperor Bahadur Shah Zafar, it was
said that his empire extended from:
(a) Chandni Chowk to Palam
(b) Delhi to Bihar
(c) Peshawar to Bihar
(d) Peshawar to Varanasi
(e) None of the above/More than one of the above

\123 Who among the following did not rebel against the
British East India Company’s control over them?
(a) Raja of Vizianagaram
(b) Nizam of Hyderabad
(c) Polygar of Tamil Nadu
(d) Dewan Velu Thampi of Travancore
(e) None of the above/More than one of the above

\124 The Indigo Rebellion was about:
(a) the peasant not wanting to grow indigo but being
forced to
(b) the peasant wanting to grow indigo but being forced
not to
(c) the peasant not wanting to grow indigo but being
forced to grow at a price that was unacceptable
(d) a protest movement that carried an indigo-coloured flag
(e) None of the above/More than one of the above

\125 The immediate cause of the Deccan Riots of 1875 was:
(a) the shadow of a famine
(b) high interest rates charged by Mahajans
(c) high land revenue rates
(d) protest against imposition of religious reforms
(e) None of the above/More than one of the above

\126 Rajani Palme Dutt said, “They both fought and collabo-
rated with imperialism.” Which political grouping was he
referring to?

(a) The Indian National Congress

(b) The Communist Party of India

(c) The Swaraj Party

(d) Hindustan Socialist Republican Association

(e) None of the above/More than one of the above

\12'7 Which of the following was not a ‘nationalist’ newspaper?
(a) The Hindu (b) Bengalee
(c) The Mahratta (d) The Times of India
(e) None of the above/More than one of the above



\128 Identify the correct combination from the options given
below for Prarthana Samaj, Young India, Lokhitvadi,
Satyashodhak Samaj, Rehnumai Mazdayasan Sabha:
(a) Gopal Hari Deshmukh, Atmaram Pandurang, Mohandas
Karamchand Gandhi, Jyotiba Phule, Naoroji Furdonji
(b) Atmaram Pandurang, Mohandas Karamchand Gandhi,
Gopal Hari Deshmukh, Jyotiba Phule, Naoroji Furdonji
(c) Atmaram Pandurang, Jyotiba Phule, Mohandas Karam-
chand Ghandhi, Gopal Hari Deshmukh, Naoroji Furdonji
(d) Naoroji Furdonji, Atmaram Pandurang, Mohandas
Karamchand Gandhi, Gopal Hari Deshmukh, Jyotiba
Phule
(e) None of the above/More than one of the above

\129 From the options given below, find the correct combina-
tion of the names of Editors of the nationalist newspapers
The Hindu, Kesari, Bengalee, Hindustani, Sudharak:

(a) Surendra Nath Banerjee, G. Subramania Iyer, Bal
Gangadhar Tilak, Ganga Prasad Varma, Krishna Gokhale
(b) Bal Gangadhar Tilak, G. Subramania Iyer, Surendra
Nath Banerjea, Ganga Prasad Varma, Gopal Krishna
Gokhale
(c) G. Subramania Iyer, Bal Gangadhar Tilak, Ganga
Prasad Varma, Gopal Krishna Gokhale, Surendra Nath
Banerjea
(d) G. Subramania lyer, Bal Gangadhar Tilak, Surendra
Nath Banerjea, Ganga Prasad Varma, Gopal Krishna
Gokhale
(e) None of the above/More than one of the above

130 ) Bal Gangadhar Tilak came to be known as ‘Lokmanya
Tilak” when:
(a) he became a popular teacher
(b) he started a popular newspaper
(c) the government accused him in the Rand Murder Case
(d) he started the Shivaji and Ganpati festivals
(e) None of the above/More than one of the above

\131 How old was Bhagat Singh when he threw a bomb in
the assembly in protest against the government?
(a) 21 years
(b) A little more than 21 years
(c) 25 years
(d) A little more than 25 years
(e) None of the above/More than one of the above

\132 The Jallianwala Bagh Massacre happened in the
context of which Gandhian Satyagraha?

(a) Swadeshi Satyagraha  (b) Rowlatt Satyagraha
(c) Bardoli Satyagraha (d) Individual Satyagraha
(e) None of the above/More than one of the above

\133 Where did Kunwar Singh join the Rebellion of 1857
against the British?

(a) Arrah  (b) Patna  (c) Bettiah (d) Varanasi
(e) None of the above/More than one of the above

\134 In which territory did tribals rebel against the British?
(a) Bihar (b) Punjab
(c) Sindh (d) Kathiawar
(e) None of the above/More than one of the above

\135 “So always with the assent and often to the dictates of
the Chamber of Commerce, the Government of India is
carried on, and this is the “White Man’s Burden’.” Who
said this?

(a) Bankim Chandra Chatterjee
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(b) Mahatma Gandhi

(c) Sachchidananda Sinha

(d) Rajendra Prasad

(e) None of the above/More than one of the above

\136 Which of the following was the first Satyagraha of
Mahatma Gandhi in India?
(a) Ahmedabad (b) Bardoli
(c) Champaran (d) Individual
(e) None of the above/More than one of the above

\137 Gandhiji’s Non-Cooperation Movement urged people
to avoid alcohol. This resulted in a serious loss of reve-
nue for the government. The government of a province
circulated a list of prominent individuals who drank
alcohol as a device to persuade people to start drinking
again. Name the province.

(a) Andhra Pradesh (b) Bihar
(c) Bombay (d) Gujarat
(e) None of the above/More than one of the above

\138 During Salt Satyagraha, in Bihar, in addition to making
salt, the people chose to oppose the government by
opposing which tax?

(a) Chowkidari (b) Haathi
(c) Development (d) Malba
(e) None of the above/More than one of the above

\139 The elected Government of Bihar resigned in February
1938 for which reason?
(a) The participation of India in war
(b) Satyagraha against the British at the call of Gandhi
(c) High taxes being imposed by the British
(d) For the release of political prisoners
(e) None of the above/More than one of the above

\140) Who was connected with the Bihar Kisan Sabha?
(a) Swami Sahajananda (b) Karyananda Sharma
(c) Rahul Sankrityayan (d) Yadunandan Sharma
(e) None of the above/More than one of the above

\141 The length of the longest pole that can be placed in a
room 12 meters long, 9 meters wide and 8 meters high is:
(a) 864 meters (b) 10 meters
(c) 17 meters (d) 43 meters
(e) None of the above

\142 A train of length 150 meters, moving towards north
direction at a speed of 144 km/hr, can cross a 250 meters
long bridge in:
(a) 20 seconds
(c) 45 seconds
(e) 28 seconds

\143 How many prime numbers are there between 1
and 50?
(a) 17 (b) 15
(e) None of the above

(b) 100 seconds
(d) 10 seconds

(c) 14 (d) 16

2
\144 If x= Y then 9x2— 3x — 11 equal to:

(a) 13 (b) 13 (c) -5 (d)-17  (e) 17

\145 In an examination, every candidate took Hindi or
History or both. 66% took Hindi and 59% took History.
The total number of candidates were 3000. How many
candidates took both Hindi and History?

(@) 500 (b) 750 (c) 542  (d) 738 () 830



\147 If x+l:1 and y+1:1,then the value of z+1is:
y z
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\146 Ifx=1/w then the val f x is:
0.00005329” en the value of x 1s:

35 525
2 b) 222
(@) - ®) 5953
205 135
=20 d) =2
(© 403 @ 233

(e) None of the above

X

(a) x-y (b) 1
(c) Not known/Not countable (d) 2
(e) None of the above

ANSWERS WITH

Option (e) is correct.
Explanation: pH is a scale used to specify the acidity or
basicity of an aqueous solution.
m pH<7: acidic solution. The Solutions having pH value
below 7 are acidic in nature. These Solutions turn blue
litmus red.
m pH>7: basic solution. The Solutions having pH value
more than 7 are basic in nature. These Solutions turn red
litmus blue.
m pH=7: neutral solution. These Solutions do not show
any color change of litmus. Pure water has 7 pH.

Option (c) is correct.
Explanation: Hydrogen has no neutron, it is the smallest
atom in size which does not hold enough space for
neutrons. Its isotopes deuterium has one, and tritium
has two neutrons. The isotopes of hydrogen have,
respectively, mass numbers of one, two, and three.

Option (a) is correct.
Explanation: The angstrom, also known as the angstrom
unit, is a measure of displacement equal to 0.0000000001
meter (10°m). It is sometimes used to express wavelengths
of visible light, ultraviolet (UV) light, X rays, and gamma
rays.

Option (a) is correct.

Explanation: Frequency is the rate at which current
changes direction per second. It is also the number
of waves that pass a fixed point in unit time and the
number of cycles or vibrations undergone during one
unit of time by a body in periodic motion. It is measured
in hertz (Hz), an international unit of measure where 1
hertz is equal to 1 cycle per second.

Option (e) is correct.
Explanation: DNA was first recognized and identified by
the Swiss biologist, Johannes Friedrich Miescher in 1869.
The 3-dimensional double helix structure of DNA,
correctly elucidated by James Watson and Francis Crick.

Option (c) is correct.

Explanation: Triglycerides are a type of fat (lipid) found
in your blood. They are the most common type of fat in

\148 The average age of 4 sisters is 7 years. If we add the

age of mother, then the average increases by 6 years.
Find the age of the mother.
(a) 46 years
(c) 37 years
(e) 57 years

(b) 39 years
(d) 47 years

\149 If 38 = 272x*1 then the value of x is:

(a) 9 (b) 1 (c) -1 (d) 10
(e) -10

\150 If S= i(Zn +%), then S is:
(@) 551 (b) 56 (c) 111 (d) 115
(e) 1101

human body. Triglycerides come from foods, especially
butter, oils, and other fats we eat.

m High triglycerides may contribute to hardening of the
arteries or thickening of the artery walls (arteriosclerosis)
— which increases the risk of stroke, heart attack and
heart disease. Extremely high triglycerides can also cause
acute inflammation of the pancreas (pancreatitis).

m High triglycerides are often a sign of other conditions
that increase the risk of heart disease and stroke,
including obesity and metabolic syndrome.

Option (d) is correct.
Explanation: The electroencephalogram (EEG) is a
medical test used to measure the electrical activity of
the brain. It can also be used to confirm brain death.
Brain cells, known as neurons, interact through electrical
impulses with one another. EEG includes a brain wave
metric, which is how the brain functions throughout
time. It detects brain wave patterns of the brain’s
electrical impulses and records them.

Option (b) is correct.
Explanation: Our internal body temperature is regulated
by a part of our brain called the hypothalamus. The
hypothalamus checks our current temperature and
compares it with the normal temperature of about 37°C.
If our temperature is too low, the hypothalamus makes
sure that the body generates and maintains heat.

Option (b) is correct.

Explanation: Red light has a longer wavelength than
green light which has a longer wavelength than blue
light which has a longer wavelength than violet light.

Color Wavelength (nanometer)
Red 780-622
Orange 622-597
Yellow 597-577
Green 577-492
Blue 492-455
Indigo 455-425
Violet 425-390

VIBGYOR has its increasing order of wavelength and

decreasing order of frequency.
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Option (a) is correct.
Explanation: To convert Celsius to Fahrenheit, we use the

following formula: °F =| °C x 2 +32

Option (d) is correct.
Explanation: Electric power is the rate at which electrical
energy is transferred by an electric circuit. The SI unit
of power is the watt, one joule per second. The unit of
electrical power is watt, named to honor James Watt,
the inventor of the steam engine. A Watt is the unit of
electrical power equal to one ampere under the pressure
of one volt.

Option (c) is correct.
Explanation: In an electric motor the electrical energy is
converted into mechanical energy. An electric generator
is mechanically identical to an electric motor, but operates
in reverse, converting mechanical energy into electrical
energy.

Option (a) is correct.
Explanation: It is generally said that human body
contains about 70% of water. Most of the water in the
human body is contained inside our cells. In adult men,
about 60% of their bodies are water. However, fat tissue
does not have as much water as lean tissue. In adult
women, fat makes up more of the body than men, so
they have about 55% of their bodies made of water.

Option (b) is correct.
Explanation: An instrument called an ammeter measures
electric current in a circuit. It is always connected in
series in a circuit through which the current is to be
measured. For direct measurement, the ammeter is
connected in series with the circuit in which the current
is to be measured. An ammeter usually has low resistance
so that it does not cause a significant voltage drop in the
circuit being measured.

Option (e) is correct.
Explanation: Greenhouse gases or GHGs are the gases
that under the thermal infrared range, absorb and
emit radiant energy causing the greenhouse effect. The
greenhouse gases consist of various gases which include
carbon dioxide, methane, water vapor, and ozone. Each
of these gases can remain in the atmosphere for different
amounts of time, ranging from a few years to thousands
of years. All of these gases remain in the atmosphere
long enough to become well mixed, meaning that the
amount that is measured in the atmosphere is roughly
the same all over the world, regardless of the source of
the emissions.

Option (d) is correct.
Explanation: On 9 November 1922, the Royal Swedish
Academy of Sciences voted to award Albert Einstein
the previously reserved 1921 Nobel Prize in Physics
for “his services to theoretical physics, and especially
for his discovery of the law of the photoelectric effect.”
The photoelectric effect is the emission of electrons
when electromagnetic radiation, such as light, hits a
material. Electrons emitted in this manner are called
photoelectrons.
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Option (b) is correct.

Explanation: Mitochondria are known as the powerhouse
of cells.

m Mitochondria play an important role in human body,
during cellular respiration. Taking in glucose and oxygen,
mitochondria produce energy, which they capture and
package as energy-rich molecules of AT A mitochondrion
is an organelle found in the cells of most eukaryotes, such
as animals, plants and fungi. Mitochondria have a double
membrane structure and use aerobic respiration to generate
adenosine triphosphate, which is used throughout the cell
as a source of chemical energy.

Option (c) is correct.
Explanation: Human immunodeficiency virus (HIV) is the

virus that causes acquired immunodeficiency syndrome
(AIDS).

The virus is spread (transmitted) person-to-person through
certain body fluids:

Blood

Semen and preseminal fluid

Rectal fluids

Vaginal fluids

Breast milk
HIV can be spread if these fluids come in contact with:

m Mucous membranes (inside of the mouth, penis,
vagina, rectum)

m Damaged tissue (tissue that has been cut or scraped)
m Injection into the bloodstream

Option (b) is correct.
Explanation: Humidity is measured using a hygrometer,
a tool that utilizes various materials and measurements to
gauge a room or space’s level of water vapor. Humidity is
the concentration of water vapor present in the air. Water
vapor, the gaseous state of water, is generally invisible
to the human eye. Humidity indicates the likelihood for
precipitation, dew, or fog to be present.
Humidity depends on the temperature and pressure of the
system of interest. The same amount of water vapor results
in higher relative humidity in cool air than warm air.

Option (a) is correct.
Explanation: The SI unit of pressure is pascal (represented
as Pa) which is equal to one newton per square metre (N/
m? or kg m's7?). Interestingly, this name was given in
1971. Before that pressure in SI was measured in newtons
per square metre.

Option (b) is correct.
Explanation: India and Kazakhstan agreed to step up
military cooperation, especially in the areas of defense
production, as Defence Minister Nirmala Sitharaman met
her counterpart Nurlan Yermekbayev during her three-
day visit to the central Asian country.

Option (d) is correct.
Explanation: Myanmar leader Aung San Suu Kyi on
October 3, 2018, became the first person to be stripped of
the honorary Canadian citizenship for her role in gross
human rights violations against the Rohingya people.
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m  Aung San Suu Kyi received honorary citizenship from
Canada in October 2007 for her pro-democracy campaign
in Myanmar, where she spent 15 years under house arrest
under the former military government. She was awarded
the Nobel Peace Prize in 1991.

Option (a) is correct.

Explanation: The North American Free Trade Agreement
(NAFTA) is an agreement signed by Canada, Mexico, and
the United States, creating a trilateral trade bloc in North
America.

m  NAFTA provides coverage to services except for aviation
transport, maritime, and basic telecommunications. The
agreement also provides intellectual property rights
protection in a variety of areas including patent, trademark,
and copyrighted material. The government procurement
provisions of NAFTA apply not only to goods but to
contracts for services and construction at the federal level.
Additionally, U.S. investors are guaranteed equal treatment
to domestic investors in Mexico and Canada.

Option (d) is correct.

Explanation: India and France have signed an implemen-
tation agreement on “MOBILISE YOUR CITY” (MYC)
here last evening in the presence of Minister of State (I/C),
Ministry of Housing and Urban Affairs (MoHUA) Hardeep
Singh Puri and Alexander Ziegler, Ambassador of France
in India.

m The MYC aims at supporting three pilot cities viz.
Nagpur, Kochi and Ahmedabad in their efforts to reduce
their Green House Gas (GHG) emissions related to urban
transport by implementing urban mobility plans at local
level and to help India at national level to improve their
sustainable transport policy.

Option (c) is correct.

Explanation: Panini language laboratory was inaugurated
at Mahatma Gandhi institute in Mauritius to promote
reading and writing Hindi amongst young and its further
development.

m [t was launched by External Affairs minister Sushma
Swaraj on the sidelines of 11" World Hindi Conference
held in Mauritius.

Option (a) is correct.
Explanation: United Kingdom enacted human organ
transplantation law for migrants from indian origin in
august 2018.
m The UK. government announced new plans to change
the law for organ and tissue donation to address the
urgent need for organs within Indian-origin communities
in the country. Under the new presumed consent system,
those who do not want to donate their organs will be
able to record their decision on the state-funded National
Health Service Organ Donor Register.

Option (c) is correct.
Explanation: Emmerson Mnangagwa was officially sworn-
in as the new President of Zimbabwe after narrowly
winning the 2018 Zimbabwean general election. Zimbabwe
is a landlocked country and its capital is Harare.

Option (c) is correct.
Explanation: Turkey ended their emergency period after
two years on 20t July 2018.
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m Turkey first declared a state of emergency on July
20, 2016 after a failed military coup to oust President
Recep Tayyip Erdogan that left over 250 people dead and
thousands injured in the chaos that ensued.

Option (a) is correct.
Explanation: on 26 June, 2018, a national emergency was
declared by the Government of Papua New Guinea.

m The National Emergency Operations Centre for Polio
Response was activated the day after.

Recently, The West Bengal government announced
that it was introducing an additional dose of injectable
polio vaccine as part of the Universal Immunisation
Programme (UIP) for children.

Option (b) is correct.
Explanation: India has won the Cricket Asia Cup in 2018
for the seventh time defeating Bangladesh. The 2016
event was the first event played in the T20 format and
functioned as a preparatory tournament ahead of the
2016 ICC World Twenty20. India, with seven titles (six
ODI and one T20), is the most successful team in the
tournament. The 2023 Asia Cup was held in Sri Lanka,
and it was won by India.

Option (d) is correct.
Explanation: India’s final tally at the 18" Asian Games
in Jakarta and Palembang, Indonesia.
69 medals — 15 gold, 24 silver and 30 bronze to surpass
the medal count from the 2010 Games in Guangzhou,
China and match the gold medal tally from the first-
ever Asian Games in 1951.
India also created new national records in several sports
and registered many firsts, some of which are listed
below:
m P V. Sindhu became the first badminton player to win
silver in Asian Games.
m Rahi Sarnobat became the first Indian woman to win a
gold medal in shooting at the Asian Games.
m Vinesh Phogat became the first Indian woman wrestler
to win a gold medal at the Asian Games.
m Swapna Barman gave India its first-ever Asiad gold in
women’s heptathlon event.
m Neeraj Chopra became the first Indian javelin thrower
to win an Asiad gold.
m Fouaad Mirza became the first Indian to win an Asian
Games individual equestrian medal since 1982.

m India also won its first medal in sepaktakraw at the
18" Asian Games.

Option (d) is correct.
Explanation: SpiceJet operated India’s first “technology
demonstrator” flight on biofuel.
m  CSIR-Indian Institute of Petroleum (IIP) manufactured
330 kg of biofuel for 45 minutes Dehradun-Delhi flight.
m The flight burnt a mix of 75% traditional Aviation
Turbine Fuel (ATF) and 25% oil extracted from the
Jatropha plant. International standards permit a blend
rate of upto 50% biofuel with ATE
m Using Aviation Biofuel reduces carbon emissions
and enhances fuel efficiency. An international research
programme led by NASA reported that the use of
biofuels can reduce particle emissions in the jet exhaust
by as much as 50%-70%.
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Option (b) is correct.
Explanation: The World Bank has approved Atal Bhujal
Yojana (ABHY), a ¥6000 crore scheme, for sustainable
management of groundwater. The funding pattern is
50:50 between the Government of India and the World
Bank. The scheme is to be implemented over a period
of five years from 2018-19 to 2022-23. Atal Bhujal Yojana
(or, Atal Jal, lit Atal Groundwater Scheme or Atal Water)
is a groundwater management scheme launched by Prime
Minister Narendra Modi on the 95% birth anniversary
of former Prime Minister Atal Bihari Vajpayee, on 25
December 2019. The purpose of the scheme is to improve
groundwater management in seven states of India.

Option (d) is correct.
Explanation: Researchers at the Indian Institute of
Technology (IIT), Kharagpur, have claimed that the
Indus Valley civilisation, which saw its doom nearly
4,350 years ago, was a result of a 900-year-long monster
drought. The Indus Valley Civilisation (IVC), also known
as the Indus Civilisation, was a Bronze Age civilisation
in the northwestern regions of South Asia, lasting from
3300 BCE to 1300 BCE, and in its mature form 2600 BCE
to 1900 BCE.
Together with ancient Egypt and Mesopotamia, it was
one of three early civilisations of the Near East and South
Asia, and of the three, the most widespread, its sites
spanning an area from much of Pakistan, to northeast
Afghanistan, and northwestern India.

Option (d) is correct.
Explanation: According to the Indian Forest Status
Report released in February 2018, the forest cover in
India is as follows:
m  The total forest and tree cover in India is 802,088 square
kilometers, which is 24.39% of the total geographical area
of the country.

m This includes a forest cover of 708,273 square
kilometers, which is 21.54% of the total geographical area
of the country.

m The remaining 93,815 square kilometers is tree cover
outside forests, which is 2.85% of the total geographical
area of the country.

m The Indian Forest Status Report is a biennial report
published by the Ministry of Environment, Forest and
Climate Change, Government of India.

Option (b) is correct.
Explanation: In January 2018, Sikkim State allowed
people to establish a humanitarian relationship with
trees, i.e. brother-sister.
m The Government of Sikkim came up with a unique
way of preserving trees by encouraging people to forge
a relationship of brotherhood or sisterhood with trees
through a practice locally known as Mith/Mit or Mitini.
In this scheme a person can also adopt or preserve them
in remembrance of a departed relative in which case tree
shall be called smriti tree.
m According to the Forest Survey of India, 2015 forest
cover of Sikkim is 47.80 % of the State’s total geographical
area.
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Option (c) is correct.

Explanation: Satara District of Maharashtra was the
best district as per the ranking undertaken by Swachh
Survekshan Grameen 2018. Haryana was the best State,
and Uttar Pradesh was rewarded for maximum citizens’
participation.

m The Ministry of Human Resource Development
(MHRD) took the Mission Swachhata to encourage every
educational institution to undertake campus cleanliness
and village cleanliness and contribute to a clean & pure
thinking India.

Option (a) is correct.
Explanation: Pradhan Mantri Jan Arogya Yojana (PM-JAY)
m The world’s largest health insurance/ assurance scheme
fully financed by the government.

m It provides a cover of ¥ 5 lakhs per family per year for
secondary and tertiary care hospitalization across public
and private empanelled hospitals in India.

m PM-JAY provides cashless access to health care
services for the beneficiary at the point of service, that
is, the hospital.

m PM-JAY envisions to help mitigate catastrophic
expenditure on medical treatment which pushes nearly
6 crore Indians into poverty each year.

m [t covers up to 3 days of pre-hospitalization and 15
days post-hospitalization expenses such as diagnostics
and medicines.

m There is no restriction on the family size, age or gender.
m  All pre—existing conditions are covered from day one.

= Benefits of the scheme are portable across the country
i.e. a beneficiary can visit any empanelled public or
private hospital in India to avail cashless treatment.
Option (a) is correct.
Explanation: The country’s first National Rail and
Transport University established in Vadodara, Gujarat
has started functioning. The government, in january
2016, announced that vadodara in Gujarat will be home
to the country’s first railway university. It was started
on the day of Teacher’s Day on 5 September 2018. This
institute is located in the National Academy of Indian
Railway (NAIR) having about 55 acres of campus. It
provides training to all levels of Indian Railway officers,
from probationers to General Managers.
Option (b) is correct.
Explanation: India - Japan Maritime bilateral exercise.

Naval cooperation between India and Japan has increased
in scope and complexity over the years. Advanced level
of operations and exercises planned during JIMEX-20
are indicative of the continued upswing in Indo-
Japanese defence relations and continued efforts by
both Governments to work closely for a more secure,
open and inclusive global commons, in accordance with
international regulations.

No option is correct (Bonus)

Option (d) is correct.

Explanation: Bihar Chief Minister Nitish Kumar inaugu-
rated and laid foundation stones of around 750 projects,
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worth more than ¥ 500 crore, in Khagaria and Begusarai
districts of the state, as part of his ‘Vikas Samiksha Yatra'.

Nitish Kumar began “Vikas Samiksha Yatra’, with a tour
of Gauchhari Kataha village in Khagaria, where he
flagged off 294 projects worth X 236 crore.

Option (c) is correct.

Explanation: Bihar Deputy Chief Minister Sushil Kumar
Modi inaugurated the state’s first “startup hub” in the
state capital Patna. The Startup Hub India is a platform
for Entrepreneurs to connect with other Entrepreneurs,
Advisers, Consultants, Mentors, Guides, Angel Investors,
Incubators, Accelerators and Venture Capital Firms.

Option (a) is correct.
Explanation: Bihar celebrated its 106" foundation day
on March 22, 2018. Vice President M Venkaiah Naidu
inaugurated a 3-day Bihar Diwas celebrations in Patna
and released 4 books- “Ek Tha Mohan’, ‘Bapu Ki Chiththi’,
‘Champaran Ki Kahani’ and ‘Neel Ke Dhabbe’ on the
occasion. The 2018 theme for this year’s celebrations is
“Centenary of Champaran Satyagraha and Elimination of
Dowry and Child Marriage”. This day when the British
separated the state of Bihar from Bengal Presidency in
1912. Before that Bengal, Bihar, Jharkhand and Orissa
were part of the Bengal province during British rule.

Option (d) is correct.
Explanation: First 12000 HP electric locomotive engine
made in India Locomotive, manufactured by Madhepura
Electric Locomotive Factory situated in Bihar, was put
into operation by Indian Railways from Pt Deen Dayal
Upadhyaya Jn Station.
m It is the first time, high horsepower locomotive has
been operationalised on a broad gauge track in the
world. The locomotive has been produced under Make
in India programme.

Option (a) is correct.
Explanation: On 10t April 2018, Prime Minister Narendra
Modi addressed the National Convention of Swachha-
grahis at Motihari, Bihar. It was related to the celebration
of the hundredth anniversary of the legendary Cham-
paran Satyagraha.

m The Swachh Bharat Abhiyan, launched in 2014, was
reframed as ‘From Satyagraha to Swachagraha’. The
sanitation coverage seemingly had expanded from about
40% in 2014 to about 80% in 2018.

Option (b) is correct.
Explanation: A five-day Day training programme, aimed
at enhancing the preparedness of Airport Emergency
Handlers (AEHSs) to respond to CBRN emergencies at
the airports, was held at the Lok Nayak Jayaprakash
(LNJP) Airport in Patna. The training programme was
conducted in collaboration with the Airports Authority
of India (AAI) and Institute of Nuclear Medicine & Allied
Sciences (INMAS). CBRN emergencies pertain to threats
emanating due to Chemical, Biological, Radiological and
Nuclear material.

Option (a) is correct.
Explanation: In the report, Open Signal stated that
Patna has the highest LTE availability in the country
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with 92.61%, followed by Kanpur and other top cities.
The report added that Patna jumped ahead of the trendy
tech hubs in the south and west of India in the firm’s 4G
availability metric. This report was started on December
1, 2017, and was conducted for 90 days.

Four cities from India’s central and eastern regions
— Patna, Kanpur, Allahabad, Kolkata, Bhopal and
Lucknow — made it into our top ten. Open signal is the
independent global standard for analyzing consumer
mobile experience.

Option (c) is correct.
Explanation: The cost-effective drinking water project in
Darbhanga. The installation of the project was estimated
to cost around 20 lakh and to have a capacity to produce
8000 liters of potable water per day at a nominal cost.
The price of the one-litre bottle will be 50 paise as per the
‘Sulabh Jal’ project. The project converts contaminated
pond and river water into safe drinking water.
Sulabh International introduced the concept of ‘Sulabh
Shauchalaya’ in India.

Option (c) is correct.
Explanation: The Bihar government has launched Chief
Minister Kanya Utthan Yojana as a significant initiative
to stop child girl marriage. This ambitious welfare
scheme will benefit about 16 million girls every year.
In this scheme, government has plans to spend I 7221
each year. Over 3.12 lakh girls will be covered under
the scheme in the current financial year. Each girl can
get monetary assistance upto ¥ 54,100 under different
components of the scheme.

Other provisions of scheme are:
1. On birth of a girl child- ¥ 2000
2.  On Aadhaar card preparation- ¥1000

3. If whole immunization is completed within 2 years -
%2000

4. Class 1 admission - ¥600 (for Uniform)
Between class 3 to 5 - ¥700 (for Uniform)
6 to 8 class Y1000 (for Uniform)

9 to 12 class - ¥1500 (for Uniform)

For graduation - ¥10000

© ® N o W

. After graduation completion - 25000
Option (d) is correct.

Explanation: Research indicates two early stages of
agricultural development in South Asia. In the earlier
stage, dating roughly from 9500 to 7500 BE agriculture
was being established in parts of Pakistan. At the ancient
site of Mehrgarh, the earliest evidence has been found,
barley was the dominant crop and was apparently
supplemented with some wheat.

Option (a) is correct.
Explanation: After the Mahaparinirvana of Lord Buddha,
the first Buddhist Council was held around 400 BC with
the support of king Ajathasatru at a cave near Rajagriha
(Rajgir).
m The second Buddhist Council was convened at
Vaishali around 383 B.C.
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m The third Buddhist Council was held at Pataliputra
under the patronage of Ashoka.

m The fourth Buddhist Council was convened in
Kashmir by Kanishka under the chairmanship of
Vasumitra.

Option (c) is correct.

Explanation: Vima Kadphises, Kushana ruler was the
first to issue gold coins on a large scale. He was the
Kushan emperor to first introduce gold coinage, in
addition to the existing copper and silver coinage. Most
of the gold seems to have been obtained through trade
with the Roman Empire. The gold weight standard of
approximately eight grams corresponds to that of Roman
coins of the 1%t century. Gold bullion from Rome would
be melted and used for the Kushan mints, into three
denominations: the double stater, the stater, and the
quarter starter (or dinara).

Option (a) is correct.

Explanation: Aryabhatta was the first to explain that the
rotation of the earth on its own axis accounts for the
daily rising and setting of the sun.

m He also stated that the Earth was a spherical ball.
The Earth rotates on its axis relative to the Sun every
24.0 hours mean solar time, with an inclination of 23.45
degrees from the plane of its orbit around the Sun. Mean
solar time represents an average of the variations caused
by Earth’s non-circular orbit.

Option (c) is correct.

Explanation: Devapala, the successor of Dharmapala,
was a powerful ruler of the Pala dynasty in the 9t
century. He was a follower of Buddhism and built several
monasteries.

Balaputradeva, the ruler of Suvarnabhumi, founded a
Buddhist monastery at Nalanda and requested Devapala
through his ambassador to grant five villages for its
maintenance.

Option (e) is correct.
Explanation: William H Schoff was author of this book.
The Periplus of the Erythrean Sea was written in a mixture
of classical and common Greek sometime between 40-55
CE. Author of the Periplus of the Erythraean Sea was an
anonymous Greek sailor. He prepared a list of varied
types of goods to show foreign trade through the sea
route.

Option (b) is correct.

Explanation: Mohammad Bin Bakhtiyar Khilji was one
of the Military Generals of Qutb-ud-din Aibak who
invaded some parts of eastern India at the end of the
12th Century and at the beginning of the 13™ century.
During his invasion many of the Viharas and universities
were sacked and thousands of Buddhist monks were
massacred. The earliest description of his invasion is in
Tabaqat-i-Nasiri by Minhaj-i-Siraj.

Option (c) is correct.

Explanation: Alauddin Khalji demanded half of the
crops of land after measurement as revenue.
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Alauddin eliminated the intermediary rural chiefs and
started collecting the Kharaj directly from the cultivators.
The rich and powerful villages with more land had to
pay more taxes.

Alauddin Khilji also constructed the Alai Darwaja.

He established the market control department under a
minister called Diwan-i- Riyasat.
Option (a) is correct.
Explanation: Hazrat Sheikh Bahauddin Zakariya Suhrawardi
was the leading Sufi saint of his time in North Western
India and belonged to well known Suhrawardi silsila
originating in Baghdad. He was a contemporary of Hazrat
Baba Fariduddin Ganjshakar of Ajodhan and Hazrat
Khwaja Qutbuddin Bakhtiar Kaki of Delhi.
Option (d) is correct.
Explanation: Suri dynasty ruled the northern part of
India from 1534 to 1556 and they were of Afghan origin.
Sasaram in Bihar was their capital.
m [slam Shah Suri ruled from the year 1545 to 1554. He
was a brave warrior and a good administrator. He is well
known for codifying the laws for the first time.
m [slam Shah the ruler of the Suri dynasty divided his
troops into units of two hundred; two hundred fifty and
five hundred fifty.
m [slam Shah was the successor of Sher Shah Suri.
Option (c) is correct.
Explanation: William Finch was an English merchant in
the service of EIC and he travelled along with Captain
Hawkins.
m He travelled during the reign of Jahangir.
m He stated that five thousand to twenty thousand men
worked for forty years to build the palace of forty pillars
at Allahabad in Akbar’s time.

Option (d) is correct.
Explanation: Emperor Zain-ul Abidin was known as
“Akbar of Kashmir”. He was called so because he was
one of the greatest rulers of Kashmir.
m He abolished ‘Jizya” and forbade cow slaughter.
m He appointed Hindus to high posts in administration.
m He established matrimonial relations with the Hindus.
Two of his queens were the daughters of a Hindu ruler
of Jammu.
m  Zainul paid great attention to the economic development
of his state. He encouraged the development of several
crafts such as gold-heating, polishing and stone-cutting etc.

Option (a) is correct.
Explanation: The movement, which was founded in 1819,
did a lot to preserve tenants’ rights. Faraizi Movement,
nineteenth century religious reform movement launched
by Haji Shariatullah. This movement spread in East
Bengal (now Bangladesh) and gained huge peasant
support. After the death of Haji Shariatullah the
movement was carried forward by his son Dudu Miyan.

Option (b) is correct.

Explanation: Dadabhai Naoroji wrote the book, Poverty
and Un-British Rule in India.
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In his book ‘Poverty and Un-British Rule in India,” he
proposed the drain theory and explained the British
exploitation of India.

m Dadabhai Naoroji also known as the “Grand Old Man
of India” and “Unofficial Ambassador of India”, was
an Indian political leader, merchant, scholar and writer
who served as 2", 9th, and 2274 President of the Indian
National Congress from 1886 to 1887, 1893 to 1894 and
1906 to 1907.

Option (c) is correct.
Explanation: Bengal Tenancy Act defines the natural
rights of Zamindars and their tenants (Raiyats) over
lands. The permanent settlement gave full powers to
Zamindars but was silent towards the tenant’s rights.
Zamindar used to increase rents that were not accepted
by the tenants.

The Tenancy Act of 1885 defined the rights and obligations
of intermediate tenancies and raiyat tenancies. The
Bengal Tenancy Act was passed in the year 1885 by the
then Governor-General of Fort William, who was also
the 1% Marquess of Hastings.

Option (d) is correct.
Explanation: Bihar formed a part of the Bengal Presidency
under the British until 1912, when the province of Bihar
and Orissa was formed; in 1936 the two became separate
provinces of British-ruled India. Sachchidananda Sinha
and Mahesh Narayan played a crucial role in elevating
the demand for a separate state of Bihar.

Option (b) is correct.
Explanation: In the Champaran district of Bihar, the
cultivators were forced by Europeans to grow indigo, a
blue dye, and this imposed on them untold sufferings.
They could not grow the food they needed, nor did they
receive adequate payment for the indigo.
Gandhi was unaware of this until an agriculturist from
Bihar, Rajkumar Shukla, met him and told him of the
woes of the people of Champaran. He requested Gandhi
to go to the place and see for himself the state of affairs
there.

Option (b) is correct.
Explanation: The Congress convention began in Lahore
in December 1929 and Pandit Nehru was the President
of the convention. The Purna Swaraj declaration (or
complete self-rule independent of the British Empire)
was promulgated by the Indian National Congress
in 1929 in its Lahore session. 26" January 1930 was
unofficial to be celebrated as the Independence Day. The
flag of India was hoisted by Jawaharlal Nehru on the
banks of Ravi at Lahore.

Option (c) is correct.
Explanation: Bihar Socialist party was formed in 1931
within congress by ideologies of Marxist-Leninist socialists.
This was formed by Phulan Prasad Varma under the
leadership of J. P Narayan.
Bihar Socialist party was formed in July 1931 by Ganga
Sharan Sinha, Rambriksh Benipuri, Phulan Prasad Varma,
and Ramanand Mishra. Bihar Socialist party later provided
the foundation for Congress Socialist Party in 1934.
The party had the following objectives- Propagation
of Socialist ideas and formation of labour and peasant
organizations.
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Option (d) is correct.
Explanation: In 1937, the first Congress Minister was
Shri Krishna Singh from Bihar He became the Prime
Minister and Anugrah Narayan Singh Deputy Prime
Minister. At that time, the Chief Minister was termed as
Prime Minister. After independence in 1947, Shri Krishna
Singh became the Chief Minister and Anugrah Narayan
Singh became the Finance Minister.

Option (b) is correct.
Explanation: Hungary is a landlocked country in the
continent of Europe. Its capital is Budapest. Its two
longest rivers called Danube and Tisza divide Hungary
into three parts: Transdanubia (to the west of the
Danube), the plain between the Rivers Danube and
Tisza, and the Trans-Tisza region (to the east of the Tisza).

Option (a) is correct.
Explanation: Borneo is the largest in the above-given
group but Greenland stands at the first position in the
category with an area of 2,130,800 sq km. Borneo is the
third-largest island in the world and the largest in Asia
with an area of 748,168 km? (288,869 sq mi). Situated at
the geographic centre of Maritime Southeast Asia, it is
one of the Greater Sunda Islands, located north of Java,
west of Sulawesi, and east of Sumatra.

Option (d) is correct.
Explanation: The climate of the Pampas is generally
temperate, gradually giving way to a more subtropical
climate in the north and a semiarid climate on the
western fringes (like San Luis Province and western La
Pampa Province).
m Mediterranean climate, major climate type of the
Koppen classification characterized by hot, dry summers
and cool, wet winters and located between about 30° and
45° latitude north and south of the Equator and on the
western sides of the continents.

Option (b) is correct.
Explanation: Worldwide 609,332 tonnes of silk is
produced per year.
m China is the largest silk producer in the world with
403,021 tonnes production per year.
m China alone produces more than 60% of the world’s
silk.
m India comes second with 161,127 tonnes yearly
production.
= With 17,912 tonnes of production per year, Uzbekistan
is the third largest producer of silk.
m The major silk producing countries in the world
are; China, India, Uzbekistan, Brazil, Japan, Republic of
Korea, Thailand, Vietnam, DPR Korea, Iran, etc.

Option (c) is correct.
Explanation: Saudi Arabia is the second largest producer
of crude oil (12% of world share) however USA is the
first position holder with 16% of world share of crude
oil production.
m Crude oil means a mixture of hydrocarbons that exists
in liquid phase in natural underground reservoirs and
remains liquid at atmospheric pressure after passing
through surface separating facilities.
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Option (a) is correct.

Explanation: Bhuban Hills are located in Cachar district
in the Barak Valley of Assam District.

m The Bhuban Hills is located in the southeast of Barak
Valley bordering Manipur and Mizoram, is a popular
pilgrimage destination.

m The three major hill ranges of Meghalaya are as
follows:

m Garo Hills - Garo tribal people live here, and Nokrek
Peak, Tora Peak, Napak Peak and Balpakram Peaks are
major peaks in these ranges.

m Khasi Hills - They are located on Shillong Plateau in
Meghalaya. Purvanchal and Patkai Ranges are major
ranges here.

m Jaintia Hills - Zomato. Pnar, Bhois and Biates tribes
reside here.

Option (c) is correct.

Explanation: Nathu La pass connects Sikkim to Tibet
region at an altitude of 4,310 m (14,140 ft) in the
Himalayas mountain ranges.

m Nathu La Pass is one of the three open trading pass
between the Indian and China, other two are are Shipkila
in Himachal Pradesh and Lipulekh in Uttarakhand.

m  Zojilais located in Drass, Ladakh at an altitude above
11,650 ft and historically remains closed for the major
part of the winter season.

m Rohtang Pass (elevation 3,978 m) is located in the state
of Himachal Pradesh.

m Khyber Pass is a mountain pass, which joins
Afghanistan and Pakistan. The pass is lying at an
elevation of 1,070 m or 3,510 ft.
Option (a) is correct.

Explanation: Karewa formations are useful for the cul-
tivation of Zafran, a local variety of Saffron in Kashmir
valley. Karewas are the thick deposits of glacial clay and
other materials embedded with moraines. Karewas are
lacustrine deposits [deposits in lakes] in the Valley of
Kashmir and in Bhadarwah Valley of the Jammu Divi-
sion. The Karewa Formation is a Plio-Pleistocene glacio-
fluvial-lacustrine and aeolian loess.

Option (b) is correct.
Explanation: 833 million Indians live in Rural areas,
which is more than two-third of the total population.
Rural — Urban distribution : 68.8% & 31.2%.

According to the 2011 Census, Tamil Nadu tops the list
of urbanised states with 48.45% of its population living
in urban areas, followed by Kerala, Maharashtra and
Gujarat.

Option (b) is correct.
Explanation: NITI Aayog stands for National Institution
for Transforming India. NITI Aayog on January 1, 2015
with emphasis on ‘Bottom —Up” approach to envisage the
vision of Maximum Governance, Minimum Government,
echoing the spirit of ‘Cooperative Federalism’.

Option (c) is correct.
Explanation: In the year 1956, the State Reorganisation
Act was passed. The states were reorganised on the basis
of language.
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= On June 17, 1948, the Constituent assembly appointed
the Linguistic Provinces Commission which was headed
by Justice S. K. Dhar. The commission was appointed in
order to examine the case of the reorganization of Indian
States on a linguistic basis.
m Andhra was the first Indian state recognized on a
linguistic basis.

Option (a) is correct.
Explanation: Uttar Pradesh is known as the ‘Sugar Bowl
of India’. It ranks the highest position in the production of
the sugar cane crop. The state has a large number of sugar
mills in major cities like Bareilly, Meerut, Saharanpur,
Sitapur, Buland Shahar.

Option (a) is correct.
Explanation: India has a near-monopoly in the production
of mica in the world. India is also the largest exporter of
Mica.
m Nellore district in Andhra Pradesh is famous for the
production of Mica. The top four leading producers of
Mica in India are Andhra Pradesh, Rajasthan, Bihar, and
Jharkhand respectively. India ranks in the 8th position in
the world in the production of Mica.
m Mica sheets are a translucent, optically flat, and elastic
mineral.
m ]t is used in cosmetics and electronic appliances.
m  Also used in paints to improve their pigmentation.

Option (c) is correct.
Explanation: On 22 March 1912, both Bihar and Orissa
were separated from Bengal as Bihar and Orissa Province.
On 1 April 1936, Bihar and Orissa became separate
provinces. The Government of India Act provided for
the election of a provincial legislative assembly and a
responsible government.

Option (a) is correct.
Explanation: In Bihar, the Dharwar Rock Formation
is a part of the oldest Archaean Rock System, which
dates back between 3100 and 2100 million years (3.1-2.1
Arab years ago). This Dharwar Rock System created the
southern regions of the Bihar districts of Aurangabad,
Gaya, Nawada, Jamui, and Munger.
The Rohtas Plateau that lies in the south-western part
of Bihar comprises about 800 square miles, and at
Rohtasgarh it attains a height of 1,490 feet above sea level
known to exist since 6" B.C. They contain sandstone,
quartzite, limestone, dolomites, and shale.
Bihar consists of Terai in the North-West, and Gangetic
plain is in the center of the state. Kharagpur hills, lie in
the southern plain, are triangular because many hills are
found in this region.

Option (c) is correct.
Explanation: Patna district is surrounded by the
following districts of Bihar: Bhojpur, Saran, Vaishali,
Samastipur, Begusarai, Lakhisarai, Nalanda, Jehanabad
and Arwal. Ganga, Son and Punpun are important rivers
of this district.

Option (b) is correct.

Explanation: Most of the area in Bihar is covered with
Alluvial soil. It is highly fertile riverine soils and formed
by depositional work of rivers valleys, flood plains and



\88

\89

\90

\91

\92

\93

OSWAAL BPSC Prelims 20 previous years solved papers

deltas. There are three major types of soil in Bihar i.e.
Piedmont Swamp Soil - found in the northwestern part
of West Champaran district.

m Terai Soil - found in the northern part of the state
along the border of Nepal. Gangetic Alluvium - the plain
of Bihar is covered by gangetic alluvium (both new as
well as old).

m Bihar is bordered by Nepal in the north, and the
Indian states of Uttar Pradesh in west, Jharkhand in
south, and West Bengal in east.

Option (a) is correct.

Explanation: According to the data shared by the
Ministry of Education, Bihar (61.8 %) has the lowest
literacy, followed by Arunachal Pradesh (65.3 %) and
Rajasthan (66.1 %). Kerala has the highest literacy rate in
India at 94%, followed by Lakshadweep at 91.85% and
Mizoram at 91.33%.

Option (b) is correct.

Explanation: Bihar is the second-largest producer of the
cash crop of Jute after West Bengal. The cultivation of
jute is mainly confined in the eastern region of India.
The jute is best grown in areas of loamy soil. Purnia is
the largest jute producing district of Bihar.

m |t is a natural fibre with golden and silky shine and
hence called the Golden Fibre. Jute is an annual crop
taking about 120 days (April/May-July/August) to grow.

Option (d) is correct.

Explanation: Currently, the majority of industrial projects
headed for Bihar are agro-based. Bihar is one of the
strongest agricultural states in India and 79% of the
state’s population is engaged in the sector.

Option (a) is correct.
Explanation: Article 124(2) deals with the resignation of
Judge of the Supreme Court and states that a Judge may,

by writing under his hand addressed to the President,
resign his office.

He can also be removed from his office by the President
of India on the recommendation of the Parliament.

A Judge of the Supreme Court shall hold office until he
attains the age of 65 years.
Option (b) is correct.

Explanation: The First Backward Class Commission
was set up by a Presidential Order under Article 340 of
the Constitution of India on Jan 29, 1953, under the
Chairmanship of Shri Kaka Kalelkar (popularly known
as Kaka Kalelkar Commission).

m Article 340 of the constitution of India provides
for the appointment of a commission to investigate
the conditions for the improvement of Socially and
educationally backward classes. The President may order
to appoint a commission to investigate the conditions
and background of backward classes of India.

Option (c) is correct.
Explanation: The Chairman and other members of a state
Public Service Commission shall be appointed, in the
case of the Union Commission or a Joint Commission, by
the President, and in the case of a State Commission, by
the Governor of the State.
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m The provisions regarding the composition of State
Public Service Commission, appointment and removal of
its members and the powers and functions of SPSC are
provided in Part XIV of the Indian Constitution under
Article 315 to Article 323.

m The Chairman or any other member of SPSC shall
only be removed from his/her office by order of the
President of India.

Option (c) is correct.

Explanation: Article 84 describes the qualification to
become a member of the Parliament which consists
of the President, the Lok Sabha, and the Rajya Sabha.
Qualification to become a member of either house of
the Parliament. He must be a citizen of India. He must
make and subscribe to an oath of confirmation. The
Constitution of India states in Article 84 (A) that only an
Indian citizen can be Lok Sabha member and in Article
84 (B) that only if the India citizen has attained the age of
25 years can he/she be a Lok Sabha member.

m In order to be chosen a member of Parliament, a
person must be a citizen of India and not less than 30
years of age in the case of Rajya Sabha.

Option (c) is correct.
Explanation: Article 155: Appointment of Governor - The
Governor of a State shall be appointed by the President
by warrant under his hand and seal. The Governor of
a State is appointed by the President for a term of five
years and holds office during his pleasure. Only Indian
citizens above 35 years of age are eligible for appointment
to this office. The Executive power of the State is vested
in the Governor.

Option (a) is correct.
Explanation: Article 330 and 332 provides for specific
representation through reservation of seats for SCs
and STs in the Parliament and in the State Legislative
Assemblies respectively. The Scheduled Castes (SCs) and
Scheduled Tribes (STs) are officially designated groups
of people and among the most disadvantaged socio-
economic groups in India.

Option (b) is correct.
Explanation: According to Article 79 of the Constitution
of India, the Parliament consists of President of India and
the two Houses of Parliament known as Council of States
(Rajya Sabha) and House of the People (Lok Sabha).
The President shall not be a member of either House of
Parliament or of a House of the Legislature of any state
and if any such member is elected President he shall be
claimed to have vacated his seat in that House on the
date on which he enters upon office as President.

Option (b) is correct.
Explanation: Article 40 in the Constitution of India deals
with the Organisation of village panchayats, which is
under the Directive Principles of State Policy. The State
shall take steps to organize village panchayats and
endow them with such powers and authority as may
be necessary to enable them to function as units of self
government.
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Option (c) is correct.
Explanation: The state of Jharkhand came into existence
in 15" November 2000 after being separated from the
state of Bihar. Jharkhand is a state in eastern India.
The state shares its border with the states of West Bengal
to the east, Chhattisgarh to the west, Uttar Pradesh to the
northwest, Bihar to the north and Odisha to the south.
It is the 15" largest state by area, and the 14th largest by
population.

\100) Option (e) is correct.

\101

Explanation: The Sarkaria Commission, which was
empowered to recommend changes in Centre- State
relations; after conducting several studies, eliciting
information, holding discussions and after detailed
deliberations submitted its 1600-page report in
January 1988.
Option (a) is correct.

Explanation: The Finance Commission is a constitutional
body, formed under Article 280 of the Indian Constitution.
The main purpose of forming the Finance Commission
is to give its recommendations on the distribution of tax
revenues between the Centre and the states as well as
among the states. On November 22, 1951, the first Finance
Commission was established under the chairmanship of
K.C. Niyogi.

\102 Option (b) is correct.

Explanation: As per, Article 76, Constitution of India
1950, the President shall appoint a person who is
qualified to be appointed a Judge of the Supreme Court
to be Attorney-General for India.

m It shall be the duty of the Attorney-General to give
advice to the Government of India upon such legal
matters, and to perform such other duties of a legal
character, as may from time to time be referred or
assigned to him by the President, and to discharge the
functions conferred on him by or under this Constitution
or any other law for the time being in force.

\103 Option (c) is correct.

Explanation: During 12! Five Year Plan (2012-17) annual
growth rate target for agriculture and allied sector was
envisaged at 4.0 percent.

m The Twelfth Five-Year Plan of the Government of
India has been decided to achieve a growth rate of 8.2%
but the National Development Council (NDC) on 27
December 2012 approved a growth rate of 8% for the
Twelfth Plan.

\104 Option (e) is correct.

Explanation: Make in India is a major national
programme of the Government of India designed
to facilitate investment, foster innovation, enhance
skill development, protect intellectual property and
build best in class manufacturing infrastructure in the
country.

m The programme also aims at improving India’s rank
on the Ease of Doing Business index by eliminating the
unnecessary laws and regulations, making bureaucratic
processes easier, making the government more
transparent, responsive and accountable.
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\105 Option (d) is correct.

Explanation: Government has launched the Digital India
programme with the vision of transforming India into a
digitally empowered society and a knowledge-based
economy, by ensuring digital access, digital inclusion,
digital empowerment and bridging the digital divide.

Digital India is aimed to prepare India for a knowledge
future, making technology central and to enhance the
digital infrastructure for governance and services. It was
launched on 1st July 2015.

\106 Option (a) is correct.

Explanation: PURA model was coined by our former
president Dr A.PJ Abdul Kalam during our Republic Day
in the year 2003.

m Provision of Urban Amenities to Rural Areas (PURA)
is a strategy for rural development in India. This concept
was given by former president Dr. A. P J. Abdul Kalam
and discussed in his book Target 3 Billion which he co-
authored with Srijan Pal Singh. The genesis of PURA
can be traced to the work done by Nimbkar Agricultural
Research Institute in the early 1990s on Taluka energy
self-sufficiency.

PURA proposes that urban infrastructure and services
should be provided in rural hubs to create economic
opportunities outside the cities.

\107 Option (c) is correct.

Explanation: The results of the 2011 census reveal that
there has been an increase in literacy in the country. The
literacy rate in the country is 74.04 per cent, 82.14 for
males and 65.46 for females.

Kerala retained its position by being on top with a 93.91
percent literacy rate, closely followed by Lakshadweep
(92.28 per cent) and Mizoram (91.58 per cent).

Bihar with a literacy rate of 63.82 per cent ranks last in
the country preceded by Arunachal Pradesh (66.95 per
cent) and Rajasthan (67.06 per cent).

\108 Option (b) is correct.

Explanation: The idea of Self-Help Groups as an effective
tool for poverty alleviation was given by Md. Yunus, a
Bangladeshi social entrepreneur, banker, economist, and
civil society leader who was awarded the Nobel Peace
Prize for founding the Grameen Bank and pioneering
the concepts of microcredit and microfinance.

m A self-help group (SHG) is a financial intermediary
committee usually composed of 10-20 local women or
men. SHG is a group of people who are on daily wages,
they form a group and from that group, one person
collects the money and gives the money to the person
who is in need.

\109 Option (e) is correct.

Explanation: Shri Shaktikanta Das, IAS Retd., former
Secretary, Department of Revenue and Department
of Economic Affairs, Ministry of Finance, Government
of India assumed charge as the 25" Governor of the
Reserve Bank of India effective, 12 December 2018.

\no Option (e) is correct.

Explanation: Productivity measures the quantity of out-
put produced with a given quantity of inputs. Long term
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productivity growth reflects improvements in farmers’
production efficiency and technological progress.

The three methods to increase the yield of crops are: Us-
ing high yielding variety seeds, use of modern irrigation
methods so as to obtain more amount of water and Crop
rotation so as to increase the fertility of the soil.

Option (e) is correct.
Explanation: The mandate of the MGNREGA Act is to
provide at least 100 days of guaranteed wage employment
in a financial year to every rural household whose adult
members volunteer to do unskilled manual work. Mahatma
Gandhi National Rural Employment Guarantee Act
2005 or MGNREGA, earlier known as the National Rural
Employment Guarantee Act or NREGA, is an Indian social
welfare measure that aims to guarantee the right to work’.

Option (c) is correct.
Explanation: Educate India

The objective of the Union budget 2017-18 was “Transform,
Energise and Clean India” - TEC.

TEC India seeks to:

m Transform the quality of governance and quality of
life of people

m Energise various sections of society, specially the
youth and the vulnerable and enable them to unleash
their true potential; and

m Clean the country from the evils of corruption, black
money and non-transparent political funding.

Option (e) is correct.
Note: According to BPSC, answer is (d), but it should be
(©).
Explanation: The Green Revolution, or Third Agricultur-
al Revolution, is a set of research technology transfer in-
itiatives occurring between 1950 and the late 1960s, that
increased agricultural production worldwide, particularly
in the developing world, beginning most markedly in the
late 1960s.
m The initiatives resulted in the adoption of new
technologies, including high-yielding varieties
(HYVs) of cereals, especially dwarf wheats and rices,
in association with chemical fertilizers and agro-
chemicals, and with controlled water-supply (usually
involving irrigation) and new methods of cultivation,
including mechanization.

\114 Option (a) is correct.

\ns

Explanation: Amitabh Kant was the CEO of the NITI
Aayog at that time since January 2015.
m Shri B. V. R. Subrahmanyam is current CEO of NITI
Aayog.
m Chief Executive Officer of NITI Aayog is appointed
by the Prime-minister for a fixed tenure, in the rank of
Secretary to Government of India.

Option (c) is correct.
Explanation: According to India’s 2011 population
density data, the population density climbed from 324 to
382 people per square kilometer. Bihar is the most thickly
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populated state (1106 persons/sq km.) followed by West
Bengal-1028 and Kerala-860.

m Delhi is the densely populated Union Territory.

m The state with the lowest population density is
Arunachal Pradesh and the Union Territory with the
lowest density of population is Andaman & Nicobar
Islands.

Option (c) is correct.
Explanation: As per details from Census 2011, Bihar
has a population of 10.41 Crores, an increase from the
figure of 8.30 Crores in the 2001 census. Total population
of Bihar as per 2011 census is 104,099,452 of which male
and female are 54,278,157 and 49,821,295 respectively.
In 2001, total population was 82,998,509 in which males
were 43,243,795 while females were 39,754,714.
Bihar Sex Ratio
Sex Ratio in Bihar is 918 i.e. for each 1000 male, which is
below national average of 940 as per census 2011. In 2001,
the sex ratio of females was 921 per 1000 males in Bihar.
Option (b) is correct.
Explanation: Bihar’s Economic survey was published for
the very first time in the year 2006-07. All this happened
in the Legislative Assembly in Bihar. This was the first
time that as a State Government came up with an
economic survey consisting of the Economy of a State.

No option is correct. (Bonus)

Option (e) is correct.
Explanation: The percentage of the Population in Bihar
state employed in the agriculture Sector in 2017-18 is
around 80% which is much higher than the national
average which is around 50%. Bihar is one of the
strongest agricultural states.

\120 Option (e) is correct.

\121

Explanation: Bihar’s growth rate rose from 7.5% in 2015-
16 to 10.3% in 2016-17. As per the latest economic survey
tabled in the Bihar legislature on opening day of the budget
session, state income at constant prices grew annually at
10.1%. The density of road network per 100 Sq. Km area
of Bihar (218.8 KM) is the third highest in the country.
Electricity availability in Bihar rose from 1712 megawatt in
2011-12 to 3769 MW in 2016-17.
Option (d) is correct.

Explanation: The Revolt of 1857 which is called ‘Sepoy
Mutiny’, ‘Great Revolt’ and the ‘First War of Indian
Independence’ is the watershed in the history of pre-
independent and early colonial India.

The multiple factors are reasons related to sepoys of the
East India Company rebellious:

Political and administrative - The order to the sepoys to
travel on ships.

Economic - The stoppage of Bhatta.

Social and religious - The efforts of the officers of the
Company to spread Christianity, greased cartridges.

There is no reason of inefficiencies of officers for the
revolt uprising.



\122 No option is correct. (Bonus)

\123 Option (b) is correct.

Explanation: In 1774, in South India, the King of
Vijayanagaram forced the East India Company to
dissolve its army and give a gift of three lakh rupees.
When the King rejected it, the company-sized his manor.
Thus, the King rebelled.

m The revolt of the polygars of Tamil Nadu continued
till 1801-05.

m In 1805, Vezelali forced The Dewan Velu Thampi of
Travancore to form a subsidiary.

m The Maharaja refused to assist by being displeased
with the condition of the treaty. Dewan Velu rebelled
against the brilliant works of British residents.

m The Nizam of Hyderabad always remained a
subsidiary of the British East India Company and he
never rebelled against them.

\124 Option (c) is correct.

Explanation: The Indigo Rebellion 1859 Bengal was about
the peasant not wanting to grow indigo but being forced
to grow at a price that was unacceptable. The key leaders
were Biswas Brothers of Nadia {Digambar Biswas and
Bishnu Biswas}, Kader Molla of Pabna, Rafique Mondal
of Maida etc.

\125 Option (b) is correct.

Explanation: In the Bombay Deccan region, the British
had introduced the Ryotwari settlement as the system
of land revenue. Under this system, the revenue of land
was fixed on a yearly basis. The immediate cause of the
Deccan Riots in 1875 was the high interest rates charged
by Mahajans.

\126 Option (a) is correct.

Explanation: Rajani Palme Dutt said, “They both fought
and collaborated with imperialism.” He was referring to
The Indian National Congress.

Rajani Palme Dutt (R. Palme Dutt) was a leading
journalist and theoretician in the Communist Party of
Great Britain.

He founded a monthly magazine called Labour Monthly
in 1921.

\127 Option (d) is correct.

Explanation: Following are the nationalist newspapers:
m 1861: The first edition of The Times of India was
published by Robert Knight. Up to 1947 this newspaper
continued to support the causes of Britishers.

m 1878: “The Hindu” was started in the English
language, which was mainly distributed in Tamil Nadu
and Kerala.

m 1881: Kesari is a Marathi newspaper which was
founded in 1881 by Lokmanya Bal Gangadhar Tilak, a
prominent leader of the Indian Independence movement.
The newspaper was used as a spokes piece for the Indian
national freedom movement.

“The Bengalee” Newspaper was started by Surendranath
Banerjee in 1879.
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\128 Option (b) is correct.

Explanation: The Prarthana Samaj was founded in
1867 in Bombay by Dr. Atmaram Pandurang. It was an
off-shoot of Brahmo Samaj. It was a reform movement
within Hinduism and concentrated on social reforms
like inter-dining, inter-marriage, widow remarriage and
uplift of women and depressed classes.

m The Young India weekly journal was published by
Mahatma Gandhi from 1919 to 1931, and used by him
to spread his ideology of non-violence and resistance
again.

m Gopal Hari Deshmukh (1823-1892) was a social
reformer and intellectual thinker from Maharashtra,
India. He was born in Pune. His original surname was
Shidhaye. At the age of 25, Deshmukh started writing
articles aimed at social reform in Maharashtra in the
weekly ‘Prabhakar’ under the name ‘Lokhitvadi’.

m Jyotiba Phule and his wife Savitri Bai Phule were
pioneers of women’s education in India. In 1873 he
founded the Satyashodhak Samaj (Truth Seekers
Society), which was devoted to securing human rights
and social justice for low-caste people.

m In 1851, the Rehnumai Mazdayasan Sabha or Religious
Reform Association was founded by Nauroji Furdonji,
Dadabhai Naoroji, S. S. Bengalee, and others.

\129 Option (d) is correct.

Explanation: Editors of famous newspapers:
m The Hindu: G. Subramania Iyer

Kesari: Balgangadhar Tilak

Bengalee: Surendranath Banerjee
Hindustani: Ganga Prasad Varma

L]
L]
L]
m Sudharak: Gopal Krishna Gokhale

\130 Option (c) is correct.

\131

Note : According to BPSC, answer is (e), but it should be
(©-
Explanation: In 1897 in a plague hit Bombay and Pune,
Mr. Rand the assistant collector of Pune that time
employed brutal methods to stop the spread of disease by
burning houses and even shooting the affected people.
m Tilak opposed such methods by publishing articles in
his newspaper Kesari Quoting “Bhagavad Gita” a Hindu
Scripture “no blame could be attached to anyone who
killed an oppressor without any thought of reward”.
m Following the publication Mr. Rand and his assistant
were killed and Tilak was charged with incitement
to murder and sentenced to eighteen months’
imprisonment.
m When he emerged from the prison he was a national
hero and the hearing and sentence earned him the title
“Lokmanya” which literally meant “Beloved leader of
the People”.

Option (b) is correct.
Explanation: Bhagat Singh and B. K. Dutt threw a
bomb while shouting ‘Inquilab Zindabad’ in the Central
Legislative Assembly on 8 April 1929 against the passage
of the Public Safety Bill and the Trade Disputes Bill which
would reduce the civil liberties of citizens.
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m Bhagat Singh was a little more than 21 years old
when he threw a bomb in the assembly in protest against
the government. He became a member of the Hindustan
Republican Association founded by Sachindra Nath
Sanyal in 1924 at Kanpur.

\132 Option (b) is correct.

Explanation: Gandhi initiated Satyagraha to protest
against the Rowlatt Act. Under the command of Colonel
Reginald Dyer, soldiers opened fire on a large number
of people gathered at Jallianwala Bagh on 13 April 1919.
The then government of India ordered an investigation
of the incident (the Hunter Commission), which in 1920
censured Dyer for his actions and ordered him to resign
from the military.

m The Rowlatt Act (Black Act) was passed on March 10,
1919, authorizing the government to imprison or confine,
without a trial, any person associated with seditious
activities. This led to nationwide unrest.

\133 Option (b) is correct.

Explanation: Kunwar Singh joined the Rebellion of 1857
against the British in Arrah of Bihar.

m The rebellion in Bihar was led by Kunwar Singh. He
was nearly 80 when he took charge of the sepoys who
were stationed at Danapur on 25 July, 1857.

\134 Option (e) is correct.

Explanation: Munda tribals’ rebel (under the leadership
of Birsa Munda) and Santhals’ rebel took place in Santhal
Pargana (Bihar), which is now in Jharkhand.

The cause of this uprising was similar to that of other rebel-
lions — the British Colonizers, Zamindars and Missionaries.
The main causes and results of the Munda rebellion
were the territorial and colonial management and unfair
practices of land grabbing, which ultimately destroyed the
traditional land system (Khuntkatti system) of the tribals.

\135 Option (c) is correct.

Explanation: Sachchidananda Sinha was a lawyer and a
member of Indian National Congress in the early years.

He was the publisher of the Indian Nation and editor
of Hindustan Review. His works included Some Eminent
Indian Contemporaries and Igbal: The Poet and His
Message (1947).

He said the British administration and government
is exploiting India and working for the profits of the
British. He criticizes the British that exploitation and
profit maximization for the British is what they used to
call “White Man’s Burden”.

\136 Option (c) is correct.

Explanation: The Champaran Satyagraha of 1917 was
the first Satyagraha movement led by Gandhi in India
and is considered a historically important revolt in the
Indian Independence Movement. It was a farmer’s
uprising that took place in Champaran district of Bihar,
India, during the British colonial period.

The famous satyagraha movement includes: Champaran
Satyagraha, Ahmedabad Mill Strike and Kheda Satyagraha.

\137 Option (b) is correct.

Explanation: The Government of Bihar and Orissa
circulated a list of all the great men in history who
drank liquor, during the non-cooperation movement to
regain lost revenue.

m The revolt came as a complete surprise to British
authorities and provided massive encouragement to
millions of Indian nationalists. The country’s unity was
strengthened, and many Indian schools and colleges
were established.

\138 Option (a) is correct.

Explanation: The Salt Satyagraha in Patna was observed
from 16 April to 21 April 1930. Inspired by Gandhi's
Dandi March, the people of Bihar broke the nefarious
Salt Laws to reclaim their right to manufacture salt. Some
important centers of the Salt Satyagraha in the district
were Amara, Bikram, Danapur, Khagaul, etc.

m During Salt Satyagraha, in Bihar, in addition to
making salt, the people chose to oppose the government
by opposing Chowkidari tax.

\139 Option (d) is correct.

Explanation: The Governments of Bihar and United
Provinces resigned because of the refusal of the demand
that the Government should release political prisoners.
When Sri Krishna Sinha formed the first Congress
ministry in 1937, he took up the cause of political
prisoners and his ministry resigned on the issue on 15
February 1938.

\140 Option (e) is correct.

\141

Explanation: The Kisan Sabha movement started in
Bihar under the leadership of Sahajanand Saraswati who
had formed in 1929 the Bihar Provincial Kisan Sabha
(BPKS) in order to mobilise peasant grievances against
the zamindari attacks on their occupancy rights, and
thus sparking the farmers’ movements in India.

Other prominent members of this Sabha included N. G.
Ranga, E. M. S. Namboodiripad, Indulal Yagnik, Sohan
Singh Bhakna, Z. A. Ahmed, Pandit Karyanand Sharma,
Pandit Yamuna Karjee, Pandit Yadunandan (Jadunandan)
Sharma, Rahul Sankrityayan, P. Sundarayya, Ram
Manohar Lohia.

Option (c) is correct.

Explanation: The length of the longest pole that can be
placed in a room is the diagonal of that room

J(Length )* +( Width ) +( Height )?
=J(12)" +(9) +(8)’

=144 +81+64 =v289 =17m

\142 Option (d) is correct.

Explanation: Total length to be covered by the train
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= Length of train + Length of bridge
=150 + 250 = 400 m
Speed of train in meter/second

5
=144 x — = 40 m/s
18

Hence, time taken to cross the bridge = 400 =10 seconds
Option (b) is correct. 40
Explanation: There are 15 prime numbers between 1 and
50, they are 2, 3, 5, 7, 11, 13, 17, 19, 23, 29, 31, 37, 41, 43
and 47.
Option (c) is correct.
Explanation: From the question,

2
x=-=,
3

Then, 9x2 — 3x — 11
2
=9x —% -3x —% —11=9><é+3><%—11
3 3 9 3

=4+2-11=-5

Option (b) is correct.
Explanation: Total candidate = Hindi choosing candidate
+ History choosing candidate - candidates who chosen
both the subjects

100% = 66% +59% —x = x=25%
3000

25% of total number of candidates = 25 x 100 =750

Option (a) is correct.
Explanation:

e \/0.00001225 B \/1225 @5 35
0.00005329 V5329 \/(73)* 73
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\147 Option (b) is correct.

Explanation: Given, 4 1_ I=x=y- M

y
Similarly

y 1

L —y-=—-1=1
y

1 1
z+—=-—y+<-1=-1+
17Ty (v-1)

\148 Option (c) is correct.

Explanation: Suppose that the age of mother = x
Since, the average age of 4 sisters is 7 years.

So, sum of ages of 4 sisters
=7x4=28

Now, average of 4 sisters and mother =28 +% =7+6=13

=028+ 2 =13= 28+ x=65= x = 65— 28 = 37 years

\149 Option (b) is correct.

Explanation: If 3**8 = 27 2x+1

3 x+8 _ (33) 2x+1

3 x+8 _ (3)3(2x+1)

Since base is same, therefore
=>x+8=32x+1)=>x+8=6x+3
=>5x=5=x=1

\150 Option (d) is correct.

. . L0 1
Explanation: Given, S = 2n+—
P Z[ 2]

n=1
10 10 1 10 1
Then, S=)"2n+ ZE = 22+10xE
n=1 n=1 n=1

210)(10+1) {smce, - ”<””>}
2
2

=110 + 5 =115
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